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101|R#A7 L 196 30 166| Kg |EE& 1,944 1,188| & 2,700 431
102|357 L 1,605 1,605 Kg BIE 1,593 555
111|&EEF £ 89 89| Kg BiE 1,782 1,566
113|RAV S 2 2| Keg FfE 3,240
114|B5EFE 160 20 140 Kg |ERES 1,620 1,404\ RS - 8BE 2,970 1,620
1171 % 31 31| Kg EfE 3,780 756
121{hblE € 5 3 2| Kg |EE 1,512 FfE 1,620
134[#= 287 150 137| Kg |=# 4,000 2,800/ 5 3,780 1,836
137|&5E3.< 96 22 74l Kg |k% 3,564 =35 4,644 3,780
138|#ik £ = 12 12| Kg FfE 972
140(5 I 10 10| Kg FE 54,000 24,840
147|EZ O 75 75| Kg il 11,880 6,000
158|EIEA A LS 232 232|  Kg =40 3,208 1,296
201{Lvb L 757 757|  Kg BE - A/l 540 162
203|/hd L 88 88| Kg =40 432 216
205|3.3 L 20 20| Kg =40 548
206| = 1F 415 415| Kg KI5 778 216
208| Mo % 328 328| Kg L 3,240 648
209|942 & L 4 4l Kg = 1,539
212|&5E.3Y 409 409| Kg FIE 2,592 1,404
251|< B %<3 162 162 Ke |=4 4,363 3,888
254|E b ECH 647 647| Kg T 2,484 756
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303[A 27z 248 248| Kg Al - Kl 864 400
305|xAah>0b 16 16| Kg i 4,860 3,024
306|Le &Y 3 3] Kg i 1,296

315|7: b5 6 30 30 Kg =y 3,240 1,620
3191 h o 550 550 Kg RER - 1R 2,376 540
332|115 WA EF 273 51 222 Kg |E8fd 1,404 1,296|F7% 2,160 1,782
3BlHHY 35 5 30| Kg [%E 3,564 L4 4,320 3,672
3541 <Y 124 1241 Kg Z, 2,106 1,134
3/5|HEY) 115 15 100 Kg [diEmE 1,404 timE - P E 1,620 600
356|L LA 30 30 Kg SER 1,512 864
3577/~ E 20 20 Kg FEE 864 432
362| & 209 209 Kg FJE 3,240 612
4025 E 5 5| Kg FAN 5,616
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507|@— L Ly 90 90| Kg hE 918
5124 A L 40 40| Kg b 1,500 341
523|AEAAT 2 O 368 368| Kg Bh 4,320 473
54| AEE E XV 43 43| Kg =] 1,620 1,500
558| 88 88| Kg b 1,296 972
560|487 2 172 172| Kg =] 2,800 1,780
566|4R A < 12 12| Kg b 1,050
57648 & 1F 20 20| Kg =] 2,700 1,836
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70110 BA 168 168 Kg FJE 2,160 1,728
71019 2 ®HA0F 20 201 Kg = I 756 745
755|FH&» C 221 221 Kg EE 864 728
7611 b BHAEL 30 301 Kg AL 2,520
76713725 W\ H 200 200 Kg S 2,850 1,440
01 [IBAL = 1T 154 1541 Kg tmE - mA 2,268 1,134
802|1 x| 30 301 Kg mE 1,404
8051 1E 3b1 351 Kg B =2 1,145 432
807 [18H D F 6 6 Kg bF 5,076
810|BAKTF 235 235 Kg JbiF 2,835 1,458
903|Thhe 40 401 Kg FJE 3,456 3,240
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